START — simple indexing CW

- LAST_TOOL_VAR=n

Y

SetBit(Rotate_ ON) & ClearBit(Rotate_ CCW) \

Falling edge detection

while ('ReadBit(INDEX)) P>

Error msg.
If no signal after 2s

i true

.~ LAST_TOOL VAR=n+1

|

ClearBit(Rotate_ON) & ClearBit(Rotate_ CCW)

v

End

START — simple indexing CCW

- LAST_TOOL VAR=n

v

SetBit(Rotate_ ON) & SetBit(Rotate CCW) |

Falling edge detection

if (ReadBit(INDEX)) ~————»>

Error msg.
If no signal after 2s

# true

_ LAST_TOOL VAR=n-1

Y

ClearBit(Rotate_ON) & ClearBit(Rotate_ CCW)

\/
End




START — Turret homing (20™ position)

i

if ('ReadBit(INDEX) & ReadBit(0_position))

Maybe is already there :)
true

else

START — simple indexing CW

— if ({ReadBit(INDEX) & ReadBit(0_position))

false
true
Y
STOP — simple Indexing CW
y
LAST_TOOL_VAR = 20
\J

Time out after 20s End




START — move turret to requsted position

If (LAST_TOOL_VAR = TOOL_VAR) L

Tool change Routine

End

If (LAST_TOOL_VAR = TOOL_VAR)

Y

LAST _TOOL_VAR = var_temp1

Y

LAST_TOOL_VAR+ 20 = var_temp1

Y

N r if ((var_temp1 - TOOL_VAR) = 10) —i

Start Indexing CCW Start Indexing CW
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